[nx010-4] Miquel Parera Jaques (Tomorrow is Unreal)

Six iterations of nxH1. | Drone | Ultraminimal | High Pitch | Insect |
Tracklist:

nx010-4_1:: nxH1-2012-01-10_22_52_10 (04:01)
nx010-4_2:: nxH1-2012-01-10_22_57_10 (04:01)
nx010-4_3:: nxH1-2012-01-10_23_06_11 (04:01)
nx010-4_4:: nxH1-2012-01-10_23_10_33 (04:01)
nx010-4_5:: nxH1-2012-01-10_23_15_26 (04:01)
nx010-4_6:: nxH1-2012-01-10_23_20_22 (04:01)
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nxH1.scd (Supercollider 3 Code)

N N s
// History, as it was on Sun Oct 30 05:45:30 2011.
L1101 7 0070707777770 7077777777777777777777117717777

// = 0:0:0 -
e = Date.getDate.format ("nxH1-$Y-%m-%d_%$H_%M_%S");

// - 0:0:0.51 —
s.recHeaderFormat = "WAV";

// - 0:0:0.97 -
s.prepareForRecord (e++".wav") ;

// - 0:0:1.4 -
s.record;

// = 0:0:2.25 -
~x.play;

// = 0:0:2.67 -
~x.fadeTime = 77;

// - 0:0:4.5 -

(

~x = { Pan2.ar (LeakDC.ar (Normalizer.ar (BPeakEQ.ar (BPeakEQ.ar (BPeakEQ.ar (BPeakEQ.ar (
FreeVerb.ar (Pulse.ar (rrand(100,1000),rrand(0.1,1.0),0.1),1.0,1.0,1.0
,100,6.0,8),1000,6.0,0),5000,6.0,0),10000,6.0,8),0.05,0.1)),0)

i

)i

// - 0:0:55.23 -
~y.play;

// - 0:0:55.66 -
~y.fadeTime = 77;

// - 0:0:58.03 -

(

~y = { Pan2.ar (LeakDC.ar (Normalizer.ar (BPeakEQ.ar (BPeakEQ.ar (BPeakEQ.ar (BPeakEQ.ar (
FreeVerb.ar (Pulse.ar (rrand(100,1000),rrand(0.1,1.0),0.1),1.0,1.0,1.0)
,100,6.0,-6),1000,6.0,-6),5000,6.0,12),10000,6.0,12),0.05,0.1)),-1)

i

)i

// - 0:1:25.92 —
~z.play;

// - 0:1:26.6 —

~z.fadeTime = 77;

// - 0:1:29.19 -

(

~z = { Pan2.ar (LeakDC.ar (Normalizer.ar (BPeakEQ.ar (BPeakEQ.ar (BPeakEQ.ar (BPeakEQ.ar (
FreeVerb.ar (Pulse.ar (rrand(100,1000),rrand(0.1,1.0),0.1),1.0,1.0,1.0)
,100,6.0,-6),1000,6.0,-6),5000,6.0,12),10000,6.0,12),0.05,0.1)),1)

// = 0:1:47.72 -

~x = { Pan2.ar (LeakDC.ar (Normalizer.ar (BPeakEQ.ar (BPeakEQ.ar (BPeakEQ.ar (BPeakEQ.ar (
FreeVerb.ar (Pulse.ar (rrand(100,1000),rrand(0.1,1.0),0.1),1.0,1.0,1.0
,100,6.0,8),1000,6.0,0),5000,6.0,0),10000,6.0,8),0.05,0.1)),0)

// = 0:2:15.82 -

~y = { Pan2.ar (LeakDC.ar (Normalizer.ar (BPeakEQ.ar (BPeakEQ.ar (BPeakEQ.ar (BPeakEQ.ar (
FreeVerb.ar (Pulse.ar (rrand(100,1000),rrand(0.1,1.0),0.1),1.0,1.0,1.0
,100,6.0,-6),1000,6.0,-6),5000,6.0,12),10000,6.0,12),0.05,0.1)),-1)

i

)i

// = 0:2:52.21 -
~z = { Pan2.ar (LeakDC.ar (Normalizer.ar (BPeakEQ.ar (BPeakEQ.ar (BPeakEQ.ar (BPeakEQ.ar (
0 0)

( a
FreeVerb.ar (Pulse.ar (rrand(100,1000),rrand(0.1,1.0),0.1),1.0,1.0,1.
,100,6.0,-6),1000,6.0,-6),5000,6.0,12),10000,6.0,12),0.05,0.1)),1)

// - 0:3:5.97 —
~x.end(33); ~x = nil;

// - 0:3:13.63 -
~y.end(33); ~y = nil;

// - 0:3:25.84 -
~z.end(33); ~z = nil;

// - 0:4:3.3 -
s.stopRecording;



